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QUESTION 1

Click the Task button. 

Place the correct class within the hierarchy to reflect the class inheritance structure for the MIDP 2.0 user interface API.
Not all classes are shown. 

Select and Place: 

Correct Answer: 
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QUESTION 2

Click the Exhibit button. 

The red collision rectangle around each Sprite in the image is NOT part of the actual image. The two Sprite objects
intersect in the application precisely as shown. 

Which two are true? (Choose two.) 

A. The most efficient way to detect collision is to use collision detection based solely on the collision rectangles. 

B. For the two Sprite objects to be considered in collision, collidesWith() must be invoked on both objects. 

C. If Sprite 1 is being tested for collision with Sprite 2 using pixel-level collision detection, the two Sprite objects will NOT
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be in collision. 

D. For the two Sprite objects to be considered in collision, each Sprite must have no more than one frame. 

Correct Answer: AC 

 

 

QUESTION 3

Click the Exhibit button. 

Which two are true assuming this method is in a MIDlet? (Choose two.) 

A. The Chocolate Prefs choice is never displayed to the user. 

B. Compilation fails due to a problem with code related to event handling. 

C. The text "You made a choice" is displayed immediately after the user makes a selection. 

D. The user can select more than one type of chocolate. 

E. An exception occurs at runtime due to a problem related to the event handling code. 

F. Anonymous inner classes must NOT be used as event handlers within a MIDlet. 
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Correct Answer: CD 

 

 

QUESTION 4

Click the Exhibit button. Which two are true? (Choose two.) 

A. In class A, no new events will be delivered to the application until after the commandAction() method completes. 

B. The event-handling mechanism in class A allows multiple command events to be delivered to the application in
parallel. 

C. The commandAction() method code in class B is compliant with the event-handling approach recommended in the
MIDP 2.0 specification. 

D. The commandAction() method code in class A is NOT guaranteed to be portable across all MIDP 2.0-compliant
devices. 

E. In class B, no new events will be delivered to the application until after the commandAction() method completes. 

F. The event-handling in class A will NOT print done with action until after the run() method has completed. 

Correct Answer: AE 
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QUESTION 5

What is the result if a call to serviceRepaints() triggers a separate thread to invoke paint()? 

A. An exception is thrown at runtime. 

B. The system may deadlock if the caller to serviceRepaints() holds a lock that is also needed by paint(). 

C. A deadlock always occurs. 

D. MIDP is thread-safe. There will never be a deadlock. 

Correct Answer: B 
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